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T 4397 :
Eaferierd 39T @1 sqmqdes qigq ik 37T 9T BT :

(1)
(ii)
(iit)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

59 J97-97 H 34 T97 & | @4t 397 AfHAard & |
J97-97 Gl GUsl 8 fquTfaq 8- @Ue &, &, 7T, 9059 & |
GUE & — J97 G&IT 1 @ 21 TEAeheq1T JhR & 97 & | Fd% Jo71 37% B 3 |

GUE & — Jv7 T&I7 22 T 27 TY-IIT JHR & 97 & | I Jo7 3 371 71 3 |
Jee 97 BT I 60 T 80 37551 H 1c71&q |

GUg T — Y97 G&I7 28 T 30 FH-3F0F (LA) JHR & 97 & | Ie3% J97 8 37h] &7
g | Yedb J97 HT IR 300 & 350 Iree] 4 folkaw |

TS ¥ - Y97 &I 31 & 33 7 I9YIH FIt Gia-STEIRT I & | FAH T
4375 H 8 |

GUE & - Y97 GCI] 34 THI7-3TTTRA 597 & 15754 Heeaqul qRierr avqail &1 ge=r
3R T I & | T8 397 5 37H] H & | TAGT Hl FT-JIasT & a1 i T & |
J97-97 § GHY ey 7871 1397 77 & | IE9, @8 @, T 9T 7 H JRF [dHeq H7
YIqe7 1597 77 8 | Riemef &1 57 yel 7 @ vk yoT HT I for@Tr &/

$G% 3R, €7 & I Ghcanfea WigneEl & c7g %igl a9 Frf=d 37 STRd
Y] & T W U 37 Jo7 1697 T & | §7 o] & I T gloesyd qiee] &
ford |

Ug h
(TEfremedia TR & TE) 21x1=21
a9 [ 1 i 9 11 9 shifve 3T 9&t faesheq 1 =94 iV
&y [ &y I1
(A1) (¥IT7)
1. &R T At ()  dfferrg
2. Tuerewm ufe (i) oo b
3. T8 Al (i) SR H
4. <hyE HiT (iv) TSGR H
IEETR

(A)  1-(G1), 2-(iv), 3~(1), 4-(ii1)
(B)  1-(Gi1), 2-(1), 3-(iv), 4-(iii)
(C)  1-G1), 2-(iii), 3-(iv), 4-(1)
(D) 1-G), 2-(1), 3-(iii), 4-(iv)
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Match Column I with Column II and choose the correct option :

Column I Column 11

(Temple) (Location,)
1. Hazara Rama Temple (1) Tamil Nadu
2. Chidambaram Temple (i1) Vijayanagara
3. Brihadishvara Temple (iii)  Belur
4. Chennakeshava Temple (iv)  Thanjavur
Options :

(A)  1-(G1), 2-(iv), 3~(1), 4-(ii1)
(B)  1-G1), 2-(1), 3-(iv), 4-(iii)
(C)  1-G1), 2-(ii1), 3-(iv), 4-(1)
(D) 1-G), 2-(1), 3-(iii), 4-(iv)
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2. fTr=faRaa o @ + ik gat & urices 9 2
(A) G THREN Fam-u-feeett
(B) 3@ HedggH fawdt
(C) @ Teim e
(D) @ FemegH Sfferm

3. fy=fcfad § & fpg W 4 A&l 4 WA § G%hd, dTfel 3R TTehd TEshi

%1 ITaTE e 2
A)  HrREl (B) W&
(C) 37 (D) fedll

4. Tmafafea ¥ 9 SF-91 e 98 gafkid g 2
(A) mfdare - T O ST foarg
(B) wfgfdare  — T ge9 1 I wfei
(C) g JAT — dAdliaeh Ha9 GG o HEA
(D) «gufd 9 — UTH & % 3 uld

5. g b fqu TN ot il wETar @ seAl-Sied! i qga i |

(A) TER el et
(B) WY el At
(C) G hedl el
(D) A9 HeAT Al
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2. Who among the following was the mentor of Amir Khusrau ?
(A)  Shaikh Nasiruddin Chiragh-i-Delhi
(B)  Shaikh Muinuddin Chishti
(C)  Shaikh Salim Chishti
(D)  Shaikh Nizamuddin Auliya

3. In which of the following languages has Al-Biruni translated Sanskrit,
Pali and Prakrit texts in India ?

(A) Persian (B)  Arabic
(C)  Urdu (D) Hindavi
4. Which of the following pairs is correctly matched ?
(A) Endogamy - Marriage outside the unit
(B) Exogamy — Man having several wives
(C)  Polygyny — Marriage inside the unit
(D) Polyandry - Woman having several husbands

5. Identify the school of art with the help of the given image of
Buddha.

(A) Gandhara School of Art
(B) Mathura School of Art
(C)  Sarnath School of Art
(D) Amravati School of Art
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TIe :

[HETICTRIT 397 @ecT gleamiara qaemfdal (/0 9. . 5 & T W :

g Feffga & @ fopd o9 & wafia 9 2
(A) I (B) wigd
(C) o D) U=

Y I 1 T &9 11 8 shifoe 3T 981 faehed &1 =99 hIfgT

et &y 11
(ar=t #1 gid &) cico,
1. T wam 1) YT &1 Ydleh
2. Tk (i) W Jdi
3. SIS (ii)  §g I 45T U
4.  TALH (v)  #EYRHesH
ﬁm :
(A) 1-(11), 2-(1), 3-(ii1), 4-(iv) B) 1-G1), 2-11), 3-(1v), 4-(ii1)
(C) 1-(iv), 2-(ii1), 3-(i1), 4-(1) (D) 1-@Gi), 2-av), 3-(1), 4-(11)

YA < T ‘gya glear ffafaa & @ foem fawa w enenfa 2 2
(A) SR B) Taferean (1)
(C) @M (D)  TIfurd

@ TS ADRI I FERAT § TEH YA o IMHH hl JgaH hioC 3T Fgt
forehed @1 =9 I

o  3W TgMIMUY <h Uty fedft |
o  ITH T & foIu §g & srauwi & 7w fafa fa |
o  JE g WEh o O Teerl i Tyl W Iy Fea |

ICETR IR
(A)  FHLI (B) ®Yadd
(C) %geHd (D) 3=
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Note : The following question is for the Visually Impaired Candidates, only
in lieu of Q. No. 5 :

Which of the following clans did Buddha belong to ?

(A) Sakya (B) Kosala
(C) Bhoja (D) Pala
6. Match Column I with Column II and choose the correct option :
Column I Column I1
(Sculpture of Sanchi) (Symbolism)
1. Empty Seat 1) Symbol of good fortune
2. Wheel (i1)  Auspicious symbol
3. Shalabhanjika (iii)  First sermon of Buddha
4, Gajalakshmi (iv) Mahaparinibbana
Options :
(A 1-G1), 2-(1), 3-(ii1), 4-1v) (B) 1-G4), 2-(i1), 3-(iv), 4-(iii)
(C)  1-Giv), 2-(i11), 3-(i1), 4-(1) (D) 1-Gid), 2-Gv), 3-(1), 4-(i1)

7. Sushruta’s book ‘Sushruta Samhita’ is based on which of the following

theme ?
(A) Grammar (B) Medicine (Ayurveda)
(C)  Astronomy (D) Mathematics

8. Identify the ruler of ancient India with the help of the given information
and choose the correct option :

e He got the title of Devanampiya.
e He distributed a portion of Buddha’s relics for stupas.

e He was the first ruler who inscribed messages on rocks and pillars.

Options :
(A) Samudragupta (B) Harshavardhana
(C) Rudradaman (D) Asoka
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9. 9@ Tod o a1 H Ffefgd saai | fomm Hifse 3 ad fashew w1 =@
HIT
(i) 98 S50 WY i G off |
(i) 35 fIaTg TRl IEH & A1 BT AT |
(iii) 3T FETYAT T TFq AR AT |

(iv) 384 AN ol YU-eH fear |

ICETS I
(A) (1), (11) 3R (111) (B) (i1), (i11) 3R (1v)
©) (@), (ii) 3N (v) (D) @), (i) 3R (iv)

o

10. TSI JUEITl H TATeEg W0 o1 T8 3T=s] A HHrarad § § hiH-81 o1 ?
(A) TR

(B) HIEl
(C) TENG!
(D) =g
11. fou T foeredi # & 3@ weg ¥ foa wa™ 61 gfd I :
URd Gl 1M, 1935 & dgd fHaifa faumfesnd ERCCR]
S R @A |
(A) Y THT Hiog
(B)  Hfee™ i

(C)  Nufafses smaH
(D) Hiag™ g4

12. fafafea fagfet 8 9 e s yew # foafew stferepil & sl W sheal T
o= 3t 1857 & 2 fearel =1 fAue & fou ‘= we’ ° sea fean 2

(A) M8 HA
(B) Hicrell ITgHgeet W8
(C) T

(D) %R o7
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10.

11.

12.

Consider the following statements about Prabhavati Gupta and choose

the correct option :

i) She was the daughter of Chandragupta Maurya.
(i1)  She was married to a Vakataka ruler.

(iii))  She had independent access to resources.

(iv)  She gave land grants to people.

Options :

(A) (1), (i) and (iii) (B) (1), (iii) and (iv)

(C) (), (i) and (iv) (D) (), (i) and (iv)

Which of the following was the best source of lapis lazuli in the Harappan
sites ?

(A) Nageshwar

(B) Manda

(C)  Rakhigarhi
(D)  Shortughai

Fill in the blank with the appropriate word from the given options :

The legislature elected under the Government of India Act, 1935 operated

within the framework of

(A) Indian National Congress
(B) Muslim League

(C)  Colonial Rule

(D) Constituent Assembly

Who among the following rebels took over the bungalow of a British

official and turned it into a ‘hall of justice’ to settle disputes during 1857

in Uttar Pradesh ?

(A) Shah Mal

(B) Maulvi Ahmadullah Shah
(C)  Gonoo

(D) Kunwar Singh
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13.

14.

15.

ST Sgiaed hl fTTaiRad | | shiF-8 Hgw@qul TareHT of 2
(A) THigRT = gt | Tumht iR e m |

(B) IS A e fepaml € Heh fepar |

(C) 38 yumedt 3 STfearet Tyert & Y9 Hi TR |

(D) 39 UM o THOTHEEEY SHs-g@ehd | &1l §U |

gfgar @ & F=faiaa ge=i # 9 foeea &< =t gfaam fmio A vy =
Y T AN hH kT STRER a2

(A) AT gamt (B) YhWd <o
(C) i grieTs (D) WS Tm

= g ®ed fou T &, AT (A) 3R HRU (R) | Tl &MY qieU 3R
Tt faered 1 =—F FifvT

SIFYT (A) : HZAN el bl AN foEar &= & foru wiefisht 7 Rgewd
3MgIeH < a1 g1 e forw |

FRU(R): TS Sl 3G off Toh Tsam R faawd &l dnjfes &9
firerrent ftufafsres smEa o1 o1d fohan < T |

ICETG

(A)  JAMYHAT (A) 3T ST (R) AT &l & 3T hRU (R), I1T9HeH (A) i
Tl AT Rl 2 |

(B)  AMeheM (A) 3R SR (R) SHI T& &, g R (R), ATHH (A) i
&l AT 7gT hidl & |

(C) AfTHAT (A) T& 7, T SR (R) Tod 7 |

(D) AHeH (A) Td 8, T SR (R) & 7 |
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13. Which one of the following was a significant criticism of the Permanent
Settlement ?

(A) The Zamindars got the permanent rights on the lands.
(B)  The British contacted the peasants directly.
(C)  The system increased the influence of tribal communities.

(D)  This system resulted in Bombay-Deccan riots.

14. Who among the following members of the Constituent Assembly made a

strong plea for Hindi to be used as the language of constitution-making ?
(A) R.V. Dhulekar (B) Shankarrao Deo
(C)  G. Durgabai (D) N.G. Ranga

15. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : To broaden the Non-Cooperation Movement, Gandhiji had
joined hands with the Khilafat Movement.

Reason (R): Gandhiji hoped that coupling Non-Cooperation and
Khilafat could collectively bring an end to the Colonial

rule.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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16. T I a™ w9 118 hifu TR T&l faeshed o1 === hifvT .

&7y &7y 11

(FTETRTT & 777) (q15%1)
1. S et () i Aifca shi ST hi
2. WIS SNl (i)  gr G S yeeTTd
3. e dfii® (iii)  Toreh HRQHT < IYEA hl
4. QIS e (iv) gaweh HAfai i w1 hl
IEETRE

(A)  1-Gib), 2-(i1), 3-(1), 4-(iv)
(B)  1-(iv), 2-(iii), 3-(i1), 4-(1)
(C)  1-(i), 2-(1), 3-(iv), 4-(iii)
D)  1-G), 2-(iv), 3-(i1), 4-(i1)

17. fr=afaRad = wowem ° safera fifve Ttk w8t faeey &1 === Fiflve
(i)  YNEEA
(i) HITE HEA
(iii) @S fagre
(iv)  Se3-gerehd g1
Tarepey
(A) (1), (111), 1), (v)
B) @), (i), (Gv), (iii)
(C) (b, (v), (i1), (1)
(D)  Gv), Gid), (1), (i)

18.  TICTRTA < G UTHIOT RN oh 1ol < T99 H Tl I 1 97 hHITT

gl I gl I
(777) (#7%)
(A) Woollgslal  — i <l g
(B) HeheHA — TR
(C) w% e IEED
(D) HA—H —  foram
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16. Match Column I with Column II and choose the correct option :

Column I Column I1

(Name of the Viceroys) (Role)
1. Lord Wellesley 1) Introduced annexation policies
2. Lord Dalhousie (ii) Introduced Subsidiary Alliance
3. Lord Bentinck (iii)  Introduced greased cartridges
4, Lord Hardinge (iv)  Introduced reformative polices
Options :

(A)  1-Gi1), 2-(i1), 3-(1), 4-(iv)
(B)  1-Gv), 2-(11), 3-(i1), 4-(1)
(C)  1-Gi), 2-(1), 3-(iv), 4-(iii)
D)  1-(), 2-(iv), 3-(ii1), 4-(i1)

17. Arrange the following in chronological order and choose the correct
option :
(i) Limitation Law
(i1)  Sunset Law
(iii)  Santhal Rebellion
(iv) Bombay-Deccan Riots
Options :
(A) (), (id), (1), (iv)
B) @), (), (v), (iii)
(C) (i), (iv), (i1), 1)
(D) Gw), (iid), (1), (ii)

18. Choose the correct pair regarding the profile of rural people during the

Mughal period :
List I List I1
(Name) (Profile)
(A) Mallahzadas - Village Headman
(B) Mugaddam — Banker
(C)  Shroff — Boatman
(D) Muzarian — Peasant

61/1/3-11 Page 13 of 23 P.T.O.
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19. Tfafad § 9 SH-A1 SR TISRATR 9THTST o 904 ol J&F HRUT 4T ?

(A) 3T gud 3 AR & g Hodad & @19 Tee e
(B) dTciiehlel H SIS, STEHETR 3R MAHST i B

(C) TIaT R Iy & SR AR Adeewe ¥ v e
(D) Yamfert 3 WrEfER 1 s T STshuor

20. Tfafed ¥ 9 fraeh ‘Smfaswfaa q@’ o 9uH 9 9fead & gmitei & T
fiperaTe o g i foehfd e <t Som & 2

(A) diX el

(B) W&l |
(C) 33 awEE
(D) TR diat

21. BT IHHF] & ded ¥ fafafegd U @ =i9-a1 %u7 T& 8 ?
(A)  IHFEFHI, IHE7-T3HRT 6! dodt Seg (Third Book) B |
(B) TNIA-SATETE GTal o ANTHEh J9MEA & Hafed 7 |
(C) TouE-31eTE gal % W T UGN ¥ Fed 7 |
(D) Hoh-AEME T AT o o 98¢ & H&fed & |

Qs 9
(T -3 T o I9) 6x3=18
22. (%) “7E7yra UH Aaeid ¥ 7 |7 39 HAA hl ARFETG v hHINT | 3
HAAAT

(@) 7ET9Rd & THIARHIHS TEhU Dl IR A & ®& 4 fagei i
fHept o1 fowersor HiT | 3

23. I wd ¥ f&ehl (coinage) 7 SR 3R fasm@ # fohg yehR e feam 2
3TN Hfga TIse shifvg | 3
24. ISR THTST % TSR g o fafsme @equn bl same il | 3
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19.

20.

21.

22.

23.

24.

Which one of the following was the main factor that led to the decline of
the Vijayanagara empire ?

(A) Internal conflicts and alliance with the Sultanates against
Vijayanagara.

(B)  Defeat of Bijapur, Ahmadnagar and Golconda in Talikota.
(C) Heavy decline in trade and economy of the Vijayanagara empire.

(D) Invasion of Portuguese and French on Vijayanagara.

Among the following, whose description of ‘degenerated East’ inspired
Western theorists to develop the idea of ‘oriental despotism’ ?

(A) Peter Mundy

(B)  Francois Bernier
(C)  Duarte Barbosa
(D)  Marco Polo

Which of the following statements is correct regarding Ain-i-Akbari ?
(A) Akbar Nama was the third book of Ain-i-Akbari.

(B) Manzil-abadi deals with the civil administration of the Mughals.
(C) Sipah-abadi deals with the imperial household of the Mughals.
(D)  Mulk-abadi deals with the fiscal side of the Mughal empire.

SECTION B
(Short-Answer Type Questions) 6x3=18
(a) “Mahabharata is a dynamic text.” Justify the statement. 3

OR

(b)  Analyse the role of scholars in the task of preparing the critical
edition of the Mahabharata. 3

How did the coinage in ancient India contribute to trade and
development ? Explain with examples. 3

Explain the distinctive features of the Royal Centre of the Vijayanagara
empire. 3

61/1/3-11 Page 15 of 23 P.T.O.
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25. A U T H AfgA fhH YR AT S Sxdia it off 2 e
Tfgd TI HIT | 3
26. (&) 1857 @1 fagie foaviw &9 A 19y W o4 et ? TI HifST | 3
HAAAT
(@) 1857 § fagifeat g SRy <kl 718 SNWOTY TETS o Auft daehl W Tehal ol
IR R h Tl off 2 Tuse e | 3
27.  SEEE-gah SN o HIUN 1 Tagetwor I | 3
@UE T
(-3 TRR 6 T9T) 3x8=24
28. (%) “TSHT FWAl H HEH MG UgA IBU hal bl fOE or |7 TR
SHIfoTT | 8
HAAAT
(@) 71 6l @ | i qUdcaragi sl YHehT Sl T hHi | 8
29. (%) WRETS o Sfed IR FHEI 4 TEPId AR FHAN Hl FhE TR FwIfaa
foraT 2 TS HINT | 8
HAAAT
(@) WP T H AAIR HRX TR WA A giiifeh 3 qEhiqeh Siad
%l ¥ IR T ? Tuse T | 8
30. (%) 3TN QAT b HRIN T T3 6l @ HIfGY | 8
roran
(@) wfdTa A9 TSI o HRON AR T hl WG HIT | 8
61/1/3-11 Page 16 of 23
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25.

26.

27.

28.

29.

30.

How did the women lead their life in the Mughal rural society ? Explain

with examples.

(a)

(b)

Why was the Revolt of 1857 specially widespread in Awadh ?
Explain.

OR

Why did the rebel proclamations in 1857 appeal for unity to all

sections of the population ? Explain.

Analyse the causes of Bombay-Deccan Riots.

(a)

(b)

(a)

(b)

(a)

(b)

61/1/3-11

SECTION C

(Long-Answer Type Questions) 3Ix8=24

“The most unique feature of the Harappan civilization was the

development of urban centres.” Explain.
OR

Explain the role of various archaeologists in the discovery of

Harappa.

How did Mirabai’s life and works influence the culture and

society ? Explain.
OR

How did the Alvar and Nayanar traditions shape the religious and
cultural life during the Medieval period ? Explain.

Examine the causes and events of Non-Cooperation Movement.
OR

Examine the causes and events of Civil Disobedience Movement.
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(Tra-3meTRa U9) 3x4=12
31. fqu U &a i eaHgEs® qfer 3R = fou U ww i o I i - 1+1+2=4
e fatemr awr 2

1440 % Tk H foT@1 TR 3TogL ToTeh 1 AR Il Forll ST TSI i
Teh U= YU 8 | T AR Hid § Hlciehe (MYFHH DISIhIS), TGUNE W
3E S Q@ Y YN T8 a9, “asl W A 96 g o SRl shedn
HHl ot 7 1 oft |7 33 A R 3 e “fafae e sdmn |

HTATR H AT ARG AT & SO 98 AR TR, 3T ufgerft = sl 9r
fepar | T8T 39 e OfeX o o 39 werer | W) feam -

TR & 9 i o H® g1, 34 T TH E-Eed o@ A ) fava ¥ Aga
2 | 98 SRR o1 Rrehl Jeieh ol @y g8 T, Sats ure e oft 3R
IR GRASH o 1Y, T W& ¥ & Y hHi¥ § CH1 g3 A1 | TIWGR
SR-ASY H € sl & Tk Hfd off S A AR €l qAT AHFE off | 3Eh]
gHI 3@l § it TT o AU 3a1 9gUs | @Y 7T o foh It giar o 7
g 9@ Tohdl &1 | 39 ey 3T i & 1 e |

(31.1) 3Teql TolTeh 4 WA shi Torlert Q20 #4i gl ? 1
(31.2) 39 @ H YoM TR gromd Sy gidfefred gl 8 ? 1
(31.3) 3TegL TG o IR o fvewl ®1e & HiGU o1 v fohd TR foram
g ? 2
32. feu u wq @ eamyEs ufew it fi= fu o ye &% I i 1+1+2=4
“gfza faser & foru &1 wg 7@

g geay 9d s ArTies §9-4 T R T |
AhaS ohl THTAT oh ToTT SfeRd el HATCHTIRITET hi hell T IITEV THT BT |

Alhdd H oFfth ol 94 fU oA qo1 30 & fou smer fess &t =nfge |
gt st shadd TS W shigd BT =gy | Ife fopeft <ehas # 319 faeqeff
ot T@ Td 8 A1 UE Hawen @l W od § fSEH e e 91 gHg
I T FHI TR hl IS T A1 3= &l hl S @mg a1 o,
dl UH Ahas o1 g Hived 7 |

(32.1) YA 7 AIhad hl ATl hi THail T JUH fohd TehR fopa 7 2 1
(32.2) U = AMhaA H IATCH-STIRITEA <hl Shell i hyl THATYT foham 7 2 1
(32.3) TIhdd 3T GHFAT o S TaY T Ud o (= hl U1 hifT | 2
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31.

32.

SECTION D

(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that follow :

1+1+2=4

A strange nation ?

The travelogue of Abdur Razzaq written in the 1440s is an interesting
mixture of emotions and perceptions. On the one hand, he did not
appreciate what he saw in the port of Calicut (present-day Kozhikode) in
Kerala, which was populated by “a people the likes of whom I had never
imagined”, describing them as “a strange nation”.

Later in his visit to India, he arrived in Mangalore, and crossed the
Western Chats. Here he saw a temple that filled him with admiration :
Within three leagues (about nine miles) of Mangalore, I saw an
idol-house the likes of which is not to be found in all the world. It was a
square, approximately ten yards a side, five yards in height, all covered
with cast bronze, with four porticos. In the entrance portico was a statue
in the likeness of a human being, full stature, made of gold. It had two
red rubies for eyes, so cunningly made that you would say it could see.
What craft and artisanship!

(31.1) Why did Abdur Razzaq call India a ‘strange nation’ ?
(31.2) How do emotions and perceptions reflect in this source ?

(31.3) How did Abdur Razzaq describe the temples of the Western
Ghats in Mangalore ?

Read the given source carefully and answer the questions that follow :

1+1+2=4

“There cannot be any divided loyalty”
Govind Ballabh Pant emphasised to become loyal citizens.
For the success of democracy one must train himself in the art of
self-discipline. In democracies one should care less for himself and more
for others. All loyalties must exclusively be centred round the State. If in
a democracy, you create rival loyalties, or you create a system in which
any individual or group, instead of suppressing his extravagance, cares
nought for larger or other interests, then democracy is doomed.
(32.1) How has Pant described the key to the success of democracy ?
(32.2) How has Pant defined the art of self-discipline in democracy ?

(32.3) Explain Pant’s views on the relationship between democracy and
equality.

2
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feu T Hra I eayEs i 3 = fou Tu wwEt 6 I @R 1+1+2=4

33.

34.

EER W dlg a¥
%d%/?/deh g 7T U 38 3001 H gg T A % T TR TEdfd Sl §eE o
ATfeTeh Bl 37U ARt 3T HHTTRAT hl UTH & H S@HTA ] ATMET. .. Ikl
FUAT % FIHN 378 M qohl, I8 WIS TR TSgd qoht, SR 984 T 3%h)
ARl ek, Ik |1 GEATg HISH SRl I THI-HHT W 30 Fel ahl....
$ b NN hl 99 7@ °§ 777 (NgH am@ries Siteq &1 @ e 8) oK
STEIUTT shl CEUTA i1 dTQU... A, Jo IR T § AW g, 3T T |
BHIM = Gl TR AR ITehl fe-ufafes & sreeat shi gfd e |
e st wran-fuan, foiete 3 ufl & 91y =¥agr & fou off w8 & 3yew fou
T E |
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(33.1) g 7 HHEINIH YSHHH H HEUN o HET ol ohdl ISR bl 2 1
(33.2) §g 7 HGER W 5 1 g ? 1
(33.3) TG o ATHAR HH oh fohral Gl FHGII ehl SATEAT HINTT | 2
wus &
(ATt - et ue) 5
(34.1) WRA o fgu MU qorifass W@-AFRE (T8 23 W) #, f=kifed =i
3T ol & sifera shifore 3T 3 9 fafEw 3x1=3
(i) SFEl, Toh ge0l YU
(i) ISl &
(iii) (%) SR (et o T &)
HAAT
(iii) (@) SR (gret & 3ef &)
(34.2) WA & 3H TSI WW-AHRT W ARG T T o Teied
Tl gl I A IR B ¥ Afehd fohdT T—IT 8 | $Teh! T8ATHT AR 3Toh
&l A 39k ehe Eikh 18 t@en w fafge | 2
. [AEfcTRad 5 et giteatiad qagael & [ 3. §. 34 % T W8 :
(34.1) WXA o Tehegi g1 dlg TAA T IJeci@ HITTT | 2
(34.2) (%) faoaTr =" 6 AU &1 Sear@ i | 1
Srera
(34.2) (@) gTal AT & e fopelt T & 1 Ieorg HIRT |
(34.3) YR TEH A o fohegl g1 hrgi o1 Scoid ity | 2



NN\

33. Read the given source carefully and answer the questions that follow :

1+1+2=4
Buddhism in pratice

This is an excerpt from the Sutta Pitaka, and contains the advice given by
the Buddha to a wealthy householder named Sigala :

In five ways should a master look after his servants and employees ...
by assigning them work according to their strength, by supplying them
with food and wages, by tending them in sickness; by sharing delicacies
with them and by granting leave at times...

In five ways should the clansmen look after the needs of samanas (those
who have renounced the world) and Brahmanas : by affection in act and
speech and mind, by keeping open house to them and supplying their
worldly needs.

There are similar instructions to Sigala about how to behave with his
parents, teacher and wife.

(33.1) How did Buddha highlight the significance of compassion in social

hierarchy ? 1

(33.2) Why did Buddha emphasise righteous action ? 1

(33.3) Explain any two tenets of Karma according to Buddha. 2
SECTION E

(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 23), locate

and label the following with appropriate symbols : 3x1=3
(i) Banawali, a Harappan site

(i1) Amravati stupa

(iii) (a) Agra (Territory under the Mughals)

OR
(iii)) (b) Ajmer (Territory under the Mughals)
(34.2) On the same outline map, two centres related to the Indian
National Movement are marked as A and B. Identify them and
write their correct names on the lines drawn near them. 2
Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention any two Buddhist sites in India. 2

(34.2) (a) Mention the capital city of Vijayanagara empire. 1
OR

(34.2) (b) Mention any one territory under the Mughal empire. 1

(34.3) Mention any two centres of the Indian National Movement.
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Outline Map of India (Political)
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